EARAROBREBRT —5 XN—ZXBISH—F 202211816H (k) 18mEHMHSH

WIBRiEREEC 2 YSRIKLE BRI
[A&=£] 1 %&:700,000 3  2#&:280,000”  3#&:175,000F 4 37:105000 " 53 :70,000 M
HEE BERS M HE | BE FB) [91L (B2 | @AEEN | LF[SER | AR | #= | BE6H (i) / 5T / £ERS
N MEESI * o3| IR o e R I Pl
RiFVVeY/FEF BSIAR SEe
o 2 KLLBEAED : = 0 - IS ()
217110/ F1I b TIL— 3R W M ’ fff; {PEE—ED
RiF4—FTUSYF B:TW—EY hL— B EEERR AU IVEINIS
< o AT } - 8| - KSR (@)
31| 1| YORAVTT—0 SR ey | 2 |* T e
RiYURIA TSR B:7vITIVNVT I RIS
D — H# 3 | PHST 51.1 3-5 36.9| — | 11 | 485 |FMiEVE (Tl
41812 J4VF =L 56.0 (3/4) #19) | BBAA
RiIFIEYR BEVUARD & JE—
Hhs 1. 7- 8| — | 4 | 456 |EPEX @)
51811 Faod4dA 8 56.0_7_ (53/4?; 8 *-8 (_566) ?LUJ[EE&
RiEW/TL—I B:FaDITDT B5 IR
S557— R 8 4 | {EQKIHEE 51.3 2-3 37.3| - 2 448 | BepEEiE (EH)
6l5/52333—RK {$52.0 1) (-3 |FEAiERE
R:Rkyd—F)LYI B:Lw RY—H pelre]
NS BRERHT ] - Al - KUEX (Fi)
7 3| FSURAYY 3 | BEHG (511/24) 56 | 37.1 5 21432) o
R:O0—RHFO7 B:TU—XRoX—)b ZEBT7—L
— s 5 | ROHEER 51.4 9-7 36.6| — 6 | 441 | AR (FEER)
sy 7 7O7—% 54.0 NF) (3 |ME=3
RV Y~ BINYRRI— s
9/5|¢|ILFTILEYY 3| IR 5(12.)7 69 |37.4] - | 7 42))3 Eg’;i ()
RiAASKRZ—9 B:IVI—VUR FBZ 5 K
~ )y R # 5 | NBEF 52.3 1-10 |36.8| — 9 | 433 |ENTE (EH)
10k 8| 7RIDYT YR 56.0 G 1/2) @3 |18) AR MEE
RiAVYISYIEL BHYZI—FUITUR AR TT 7 — L
. RERER ) - 2| - HEhEX ()
N RECEZEA TP ® 3 E50 oy | T2 O | o
RiIV—FHFIS59Y B:RFI4TRUT =YY T r—1
IFIF 28 = - - - |- -
7|9 | 7VAVFVFY 3 | B8 o O NG ()
RE—UR BTEY BA BIL
@ 11— —&@BIEf:I
13—7—
20—+ —
30—73+— |[4,5,(1,12,3,6,11,10,7,2,8
43—3+— |[4,1,5,10,12,3,7,11,6,8,2
@ Ih\R=E
B B 4 180 | | DA K 4-10 1,110 | | # &= 4-7 3,460/ | | &8 1-4-10 5,040/
B B 4 1204 1-4 360M | | 55 & 4-10 2,930 | | 3EEE 4-10-1 18,920M
10 720M 1-10 2,750 | | BB & 4-10 3,360/
1 1903

ABIC OV TRUTEREERRODDZE. THRIIZEL.



